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> p: U — R3: [ERIHhE
» v:[a,b] - U :C*®
> Y:i=por.
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> p: U — R3: [ERIHhE
» DcU, D: B5HES.

TEFR

A, (D) := //D |pu X po| dudv.
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u—curves

v—curves
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W D = (-%,%) x (-7 71') EroEEX N BRI E

p: D3 (u,v) — p(u,v) := "(cosucos v, cos usin v, sinu) I
u=u(l),v=n0 EWVWIBD T X —=XEHZHEL T,

B(&m) = p(u(€),n) B3 |pe| = Byl e - Py = 0 ZHMiT=F & 5%
p(&,n) ZRDILI V.
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EDOEH RIWCHLT, D=[0,7R] x [-m, 7] TEFI N 7zEHI#
I p(r,0) := Rt(cos 4 cosf,cos fsinf,sin ) EEZ 5.

B2 oN/IEDE p 1T LT

S(p) :=={p(p,0); —m =0 =},
D(p) :={p(r,0); 0=r<p,—m <0 <7}

rBE, S(p) OWMER L(p), D(p) OHEE A(p) £5L. =0
v & ROMRERDI S :
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IEDER a W3 U CTERIEE p: R? —» R? %

t u . u
p(u,v) = <a cos v cosh E,asmvcosh E,u)
TEDS. IEOE § 1T LTS(6) :={p(,v); -7 Sv <7},

D) :={p(u,v); -6 Susd-—-nSvnpTHLE, SO)D
L D(6) OHifEZ KDL I,
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